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=| b= Ty
Ocm 50cm 100cm 150cm
PSR AL IE A& AR
A = 0.083 0.068 0.063 0.072
2R AESED)
B A#E XA 0.078 0.072 0.069 0.067
10818
C XKEHREXM 0.075 0.059 0.056 0.063
D FIHMEXFT 0.085 0.083 0.084 0.069
PSR L IE A& AR
A = 0.077 0.075 0.066 0.056
2RISR
B THMEXM 0.083 0.067 0.062 0.077
108158
C XKEHREXH 0.072 0.065 0.060 0.055
D FIHMEXFT 0.095 0.078 0.084 0.078
PSR AL IE AR AR
A = 0.075 0.073 0.060 0.063
2RISR
B A#E XA 0.089 0.077 0.074 0.070
11A58
C XKEHREXM 0.069 0.061 0.063 0.067
D FIHMEXAT 0.092 0.084 0.086 0.082
PSR AL IE AR AR
A = 0.076 0.068 0.062 0.061
2RISR
B A#E XA 0.079 0.071 0.078 0.075
118198
C XKEHREXM 0.068 0.067 0.062 0.068
D FIHMEXAT 0.090 0.090 0.080 0.078
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